Al & 0l & AF Al A
202495 20ia S=ZIHEESSIA|
A S2AESH
& 200 M2l
= 210 dAEAN L=
2 216 O|xt=-0! (Gt d2)
2H-F-2-8-5F Ol &F of & E 0| AkoH HnszZ
& A 7,108,000 5,788,000 1,320,000
SZES 7,108,000 5,788,000 1,320,000
200 M2l 3,184 1,456 1,728
210 ZHEANLI+=S 3,184 1,456 1,728
216 OlXt=¢ 3,184 1,456 1,728
216-01 23030kt 3,184 1,456 1,728
O3303 Ok 3,184,000 %141 3,184
500 Ex=2 3,774,736 3,982,044 A207,308
510 =21EX38 3,774,736 3,982,044 A207,308
511 2NEERZS 3,774,736 3,982,044 A207,308
511-03 JI=2 3,774,736 3,982,044 A207,308
OodsZ==H2ellI2 3,774,736
—BAD|ZAlE &XIH 1,224,000
- 20098 H==Al ol==2tHZEH| BTL ZU=
483,000,000 * 14 483,000
2010 H==Al Sh=2t{FH| BTL &=
307,000,000 * 14! 307,000
LAl FHO2Z2 434,000,000 %14l 434,000
—EED|Z=AIE 2gH| 1,382,528
SHIIZAE 2Y S3ot=HelAlE
1,156,890,0002 14 1,156,890
OISstaHeIAE 29 225,638,0002 14! 225,638
—QAEAIMHIE 0l 71,086,002 % 14! 71,086
—HISAZAIE SUIEHE 11,961,0002% 14! 11,961
—JIE2L B3X2AE 29| XA
514,141,00024 14! 514,141
—HIELEANMZAL 560,700,000 14! 560,700
—otE oM DI B StALY 516,0002*203] 10,320
700 2L SLLHEHH 3,330,080 1,804,500 1,525,580
710 BES 91,000 83,540 7,460
711 o= 91,000 83,540 7,460
711-01 =MIAL =S 91,000 83,540 7,460
O=AAHLNHZ 91,000,000 x 14! 91,000
720 LS4l 3,239,080 1,720,960 1,518,120
721 M2 3,239,080 1,557,960 1,681,120
721-03 JIEt2| AN LS 3,239,080 1,557,960 1,681,120
OLBtsIH M3 3,239,080




S SRS
B 700 BHAASULYEHH
2 1 720 LR
2 [l Jes (chol: mg
FH-Z-2-8-5 o & o HA (f At blms
—ZIoteHLIAE R D A
600,0002+387H 4] 22,800
—PAEY £E BN 8 200,00024+97H 4] 1,800
—BIGEMRIAIL SEAA BT A
1,080,00021+3874 2:+122 492,480
—ITotHelAle 2yl S|
450,000, 00021%14! 450,000
—BIoteHRIAE M Seleat)
25,000, 0002438744 950,000
—TJoHHRIAE BOF S2l4ut)
8,500, 00024627 41 527,000
—BTGIMRIAIE YT S 242
125,000, 00021 14! 125,000
—Z3oteRelAE Z2AT Ml
1,000, 0002+ 100742 100,000
—BTBoHRIAIE (F1R)IIST |
570,000, 00021+ 14! 570,000




202485 20A FEINMSHEEH HA
SA: SPESY
I Q- Hip 22| (BHE/MOIEE - 2F)
CHel: SEOAS 2R (S EINLSE S| H) (Chol: ®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
B 7,108,000 5,788,000 1,320,000
p) 3,774,736
Al 3,333,264
Q- M 2A2(BF/MGIEE - £F) 4,727,110 3,182,806 1,544,304
p) 1,393,846
Al 3,333,264
SR H 2R (SR ESEH|) 4,727,110 3,182,806 1,544,304
p) 1,393,846
Al 3,333,264
PSSR 87,184 133,960 46,776
201 LB 76,184 82,960 16,776
01 AF222IHI 3,424 6,200 N2, 776
OSHEZAIR gste 1Y
240,0002 *52 1 = 1,200
O&Bd 228= M 266,000 4= 1,064
O=&8d &9 HE 58,0002 20K 1,160
02 222 72,760 76,760 A4,000
OY 4,517 $EAA 42
230,0002 % 15 A* 122 41,400
OSHAEAID SEAA 28
100,000 103 1,000
OBt&E % £EAA 242
230,000 * 11 A+ 128 30,360
202 Ot 6,000 6,000
01 2UH0i| 6,000 6,000
O%E AI22AF 0]
90,0002 %1230 2,700
OQAZM TA+ 04t
90,0002 x2H*5 900
OstH Y Bt=Ch Ot
20,0002 %x2H x5+ 122 2,400
206 M=l 5,000 5,000
01 XHEH] 5,000 5,000
FEQEE 2 2 A2 W2 7Y
1,000,0004%53] 5,000
0I26t4+Z Al AX 3,246,080 1,662,560 1,583,520
201 L2 A 519,080 104,600 414,480
01 AF2ZH2IHI 1,500 1,500 0
O225t+HeIAL 2 22 MU ME
1,500,000 * 14! 1,500
02 222 517,580 103,100 414,480
OBZBHHRIAL STH DEZAMI
600, 0002 %387 A 22,800
OZ2tLaHEIAE LT3
500,000 %14l 500




2A: SEESH
HE: Q4 PRI(BY/MGET - 2F)
el EIjE e (SEINESESIH) (chol: &2l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OSFEA FEIN 222
200,000 94 2 1,800
OZ3otrHMelAld =ZEZAt ZF ZAHI
1,080,000 *38I4 2+ 12 492,480
401 Al&HIZ2THY| 2,727,000 1,557,960 1,169,040
01 AlIEH| 2,727,000 1,557,960 1,169,040
OBTBot=HINE 2gel S|
450,000,000 * 14! 450,000
O33ot==HMelAlE Xel& ==cl=&Hl
25,000,000 *387H 2~ 950,000
O33otrHMelAld HEE 2|4
8,500, 000& *627H £ 527,000
O33otrHMelAlE M dEI =2
125,000,000 * 14! 125,000
O33ot==HMelAld =Xl Xeldl
1,000,000 *1007H 2~ 100,000
O33sot=HMelAld (FII1H)J|IsEIS|
570,000,000& *14! 570,000
O336ts=HMelAld s=&E2elxelt]
5,000,000&*14! 5,000
(m)eEsaae| OldEIHIE 71,086 51,913 19,173
| 71,086
207 AN 71,086 51,913 19,173
| 71,086
01 ¢72EL| 71,086 51,913 19,173
OSSN AA= OlAHEIt
71,086,000 14 71,086
Il 71,086
(=)ogzzze HEATAE 2UHY 17,961 22,544 710,383
| 11,961
207 AN 11,961 22,344 210,383
| 11,961
01 A= <H| 11,961 22,344 A10,383
OtisAZA4d 2LIHY
1,961,000 *14! 11,961
| 11,961
(=)D ZAE 2F DISote=SAld 29 225,638 206,246 19,392
| 225,638
201 LE23H| 225,638 206,246 19,392
| 225,638
02 2224l 225,638 206,246 19,392
OligotsAld IS
216,038,000& 14! 216,038
| 216,038
OliSotsAld SKe3
800,000&*12& 9,600




A BBESDH
HM: Q- H 2A2|(BP/MEIEE - +F)
gel: sEHE 2| (EHESESIH) (Chol: ®i2)
SA - BB - BRI(E) - HRAY - BAS il st Gl SimE==1
| J| 9,600
(2)IIEEL 22H2IAIL 294 XY 514,141 385,253 128,838
7l 514,141
307 2I2H0| & 514, 141 385,253 128,888
7l 514,141
03 QIIEHRI M E2HH| 28X 514,141 385,253 128,838
OJERL S3XelAE 29
514,141,0002 * 14! 514, 141
7l 514, 141
(R)HIELLHAMZAIS 560,700 705,000 144,300
7l 560,700
403 XHXISHHISXH=20| A 560,700 705,000 A144,300
7l 560, 700
02 2| ZENCHE RH2 = R|EFALA 560,700 705,000 A 144,300
OHIHE R M 2AIY
560,700,000 * 14! 560,700
7l 560, 700
(2)oH&s6t7 MAD| FatA 10,320 6,004 4,226
7l 10,320
206 THEH] 10,320 6,004 4,226
7l 10,320
01 TH2H] 10,320 6,004 4,226
OBHEMYID| 21 W2
516,00024*203] 10,320
7l 10,320
WR=S(222S0)(2E/ 46155 - +X) 2,380,890 2,605,194 N224,304
7l 2,380,890
TENENEICSSPISEELP) 2,380,890 2,605,194 N224,304
7l 2,380,890
(2)B2I|IZAIE &X| St H(HEANXS) 1,224,000 1,311,000 A87,000
7l 1,224,000
701 DB HSRES 1,224,000 1,311,000 A87,000
7l 1,224,000
03 2I|AELS|HA=HE2 1,224,000 887,000 337,000
02009 HFAl SHZHEHBTLAUR
483,000,000 * 14! 483,000
7l 483,000
020108 AFAl SHZHEHBTLAUS
307,000,000 * 14! 307,000
7l 307,000
OYFAl =8 G2 FH|
434,000,000 x 14! 434,000
7| 434,000




PN EBZEESH
HM: NS (A2 (8F/ Aot - 4=7)
o2 WEHNKIE (N SES A (cHol: M)
- _ — PSIE|
2A - HH . H(SH) - MRAIY - BES Of] &K loﬂ/:& Hws2t
(=) EIIZAIE 2Y 230t=MelAIZ(WEHHXIS) 1,156,890 1,294,194 A137,304
J| 1,156,890
701 JIEIS HENES 1,156,890 1,294,194 137,304
J| 1,156,890
02 BINILSEIHBLEEZ 1,156,890 1,294,194 A137,304
Odt==Held 29 1,156,890,0002x1A! 1,156,890
J| 1,156,890






